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Lesson 1 What is Economics?

1. Answer the questions:

1. Do you know what economics studies?

2. What are the two main types of economics?
3. Why do you study economics?

Economics Word bank

1. costs — 3arpatbl 6. earning potential — moTeHUHMAa
2. poverty — Huiera 3apaboTka
3. to value — ouenuBaTh, IIEHUTH 7. budget deficit — neduruT OromKeTa
4. wellbeing — onarononyuue; | 8. benefit — Beirona

O1arococTosiHue 9. Gross Domestic Product  —
5. living standards — ypoBeHb kH3HH BHYTPEHHUI BAJIOBOU MPOTYKT

2. Read the text and check if you understand the words in bold:
What is Economics?

Economics is the study of the production and consumption of goods and the
transfer of wealth to produce and obtain those goods. Economics explains how
people interact within markets to get what they want or accomplish certain goals.

There are two main types of economics: macroeconomics and
microeconomics. Microeconomics focuses on the actions of individuals and
industries, like the dynamics between buyers and sellers, borrowers and lenders.
Macroeconomics, on the other hand, takes a much broader view by analyzing the
economic activity of an entire country or the international marketplace.

Adapted from: http://www.whatiseconomics.org/

3. Match the words from the box and definitions:

Gross Domestic Product, living standards, earning potential, income,

pension, retirement, savings, budget deficit, benefit, wellbeing

An advantage or profit that somebody gets from something.

Money received, especially regular, for work or with help of investments.

The action or fact of leaving one's job and stopping to work.

A level of material comfort measured by the goods, services available to an

individual, group, or nation.

5. The amount of money by which a government, company, or individual's spending
IS more that its income in a particular period of time.

6. The total value of goods produced and services provided in a country during one

year.

The state of being comfortable, healthy, or happy.

An amount of money saved.

. The sum of money a person will be able to earn in his or her professional future.

O A regular payment made by the state to people of or above the official retirement

age and to some widows and disabled people.
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Put the words from exercises 2 and 3 in the sentences:

Our president said the ... of our country had grown by 7 % and our ... would be
better and better from year to year.

The bank went bankrupt and I lost all my ....

People with better education are able to ... more money.

Many people in Africa are ill and die because of ... .

Our company offers you a job with a good ... and great work conditions.

If you earn a lot of money today, you will be able to get better ... after ....

She can’t control her ..., as soon as she gets money she goes shopping and ... all
money she got.

Last year I decided not to buy beer and ... enough money to buy a new cell phone.

Look at these words, define the part of speech and find the related words:
benefit value policy

to earn to affect to provide

retirement to complete to reduce

to save to manage

Reading

6.
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Look through the text below and answer the questions:

1. How many people understand the importance of knowledge of economics?
2.
3. Can we make a good choice between political leaders without knowing basic

How can our decisions now affect our income in future?

economic concepts?
Why is economic education important?

Agree or disagree with these statements according to the text:

College degree is one of the factors that directly affect people and their families.
Only 20% adults and students understand that people with college have better
earning potential.

If you leave school and start to earn money in your teens and don’t go to college
you will have a higher income in later life.

If you keep savings in the bank you don’t risk losing money because of inflation.
Political leaders explain their economic decisions so simply that it’s easy to make
a decision.

Strong knowledge in economics helps people to earn much more money.

Rich countries have no problems with poverty.

Answer the questions:

Do people appreciate economic factors which influence their wellbeing? Why?
What can happen with your money if you keep it “under mattress”?

What benefits can understanding of economic issues bring to an individual?
Why must we think of an adequate income in retirement now?

In what way can knowledge of economics affect political decisions?



Convinced By Commonsense - Or Why We Need Economics

Economic education is important - critically important. This morning | want to
say something about why economics is important and why, in consequence,
economics education is vital.

But the latest study showed that many people still don’t appreciate factors that
directly affect them and their families. There is a common failure to realize the
importance of a college education to future expected salary, for example. Only two in
ten adults and students completely understood what a difference to earning potential a
college degree can bring. And only half of all adults - and even fewer students - know
that savings kept under the mattress - or anywhere else at home - are at the greatest
risk of losing value because of inflation.

At the personal level, the more people understand about savings, earning
potential and other economic issues, the better they can look after themselves and
their families; the better they are able to manage the earning and spending sides of
their lives; and the better they can prepare for retirement. People need to understand
the compromise they are making - between leaving school and starting to earn money
in their teens and going to college in the expectation of a higher income in later life,
for example. They need to understand how best to save money in a way that finds the
right balance between risk and return for them so that they will have an adequate
income in retirement - a more and more important factor as people live longer and as
our population becomes older.

But - and this is equally important - the more the population understands about
economic issues, the more sensible and informed will be the discussion about
economic policy issues affecting the national economy; and the better will be the
policy decisions. Fewer than half of students - according to the NCEE survey - know
what a budget deficit is. Only a quarter of students and fewer than half of all adults
know what we mean by Gross Domestic Product. When many citizens ignore such
concepts, it is difficult for political leaders to explain their arguments for specific
economic decisions which offer a balanced estimation of the costs and benefits of a
particular policy option. Instead, the economic policy discussion changes into
selective and unreasonably simplistic, often focusing on the short-term, and perhaps
even mistaken.

That’s why providing school students with strong knowledge in economics is an
important public service. As individuals get a better understanding of the issues that
can affect their own wellbeing, it will be easier to make rational decisions about their
jobs, savings and pensions. And as those individuals get a better understanding of the
role of stimulus and compromises in the functioning of the economy, so they will be
able to make a more informed estimation of public policy choices.

We want to understand how the world works; how people behave; and how
resources are allocated. But we want to do that because we want to understand how
the rules or laws can be applied for the benefit of everyone. We want to raise living
standards and reduce poverty -and as we have seen on our television screens in recent
weeks, this remains a problem even in some parts of a rich country like the United
States.

Adapted from http://www.imf.org/
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Commentary

1. NCEE - National Council For Economic Education

2. short-term - short period of time

3. simplistic - interpretation of something that makes it seem much simpler than it
really is

4. teens - the years of a person's age from 13 to 19

Useful words and expressions

1. according to — cornmacHo 18. option — BEIOOp, anmbTepHATHBA

2. adequate — aneKBaTHBIM 19. particular — otnenpHBIH

3. to affect — BamsTH 20. perhaps — Bo3MOXKHO

4. allocated — pacnipeaeneHHbIH 21. policy — monuTHKa, TUHUS

5. to apply — mpumeHsITH K (4-11.) MOBEACHUSA

6. to appreciate — orieHMBaTh, IICHUTH 22. to provide — obecrieunBaTh

7. to behave — Bectu cebs 23. t0 raise — MoBwIIaTh, YBEITMYUBATh
8. common — pacnpocTpaHEHHBIN 24. to realize — noHuMaTh, 0OCO3HABATH
9. completely — nonnocThIO, COBCEM 25. recent — HegaBHUIA

10. equally — B paBHO}#1 cTeneHH 26. to reduce — cokpainath, yMEHbIIATh
11. estimation — ouienka 27. to remain — ocraBarbcs

12. to expect — oxxuaaThH 28. return — Bo3Bpat

13. failure — Heymaua, Heycnex 29. selective — BEIOOpOYHBII

14. in a way — B HEKOTOpO#l CTEeNCHH 30. sensible — 6maropazymHbIH,

15. in consequence — B pe3yJibTare 3JIPaBOMBICIISIIIN T

16. issue — cniopHsIit Bonpoc, mpodiema 31 sUrvey — omnpoc, aHKETUPOBaHUE
17. to manage — cripaBisThCS 32. unreasonably — nepazymHo

Grammar: Degrees of Comparison

Absolute Comparative Superlative
one syllable or big bigger the biggest
two syllables | strong stronger the strongest
ending in -y happy happier the happiest
two or more | important more important the most important
syllables adequate more adequate the most adequate
exceptions many, much more the most

good better the best

little less the least

bad WOorse the worst

Using degrees of comparison:
e The more you work, the more you earn.
e He earns more than you.
e The greatest risk of losing value of money is inflation.
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Put the adjective in the right form:

. study showed that many people can’t make an adequate decision about
spending money (late).
Only half of all adults—and even ... students — understand what inflation means
(few).
People with ... education can get a ... salary (high, big).
... people understand about savings, earning potential and other economic issues,
... they can look after themselves and their families (much, good).
They need to understand how to save money ... (good).
... than half of students know what a budget deficit is (few).
Providing school students with ... knowledge in economics is ... public service
(strong, important).
... you earn now, ... pension you will get later (many, big).
If you understand economic and political issues you make ... and ... decisions
(rational, adequate).

10.Make a sentence from given words, the first and the last words are on the

ONoakrwdE

correct places:

People, understand, who, better, decision economics, a, can make, about spending.
Later, you, get, higher, can, income.

It’s, to, understand, political, difficult, economic, and, issues.

Poverty, big, is, problem, a, in, many, large, countries.

Economists, more, informed, can, a, make, estimation.

Students, about, than, fewer, economics, know, adults.

Economists, how, save, best, to, know, money.

Population, older, is getting, and, older.

Speaking
11.Answer the questions using the following expressions:

1.
2.
3.

Is economic education important? What do you think?

Do we need to teach economics at school? Or is it too early?

Is it possible for the government to explain their arguments for specific economic
decisions to all citizens? Is it necessary to do it?

- | think that - to lose value through inflation

- In my opinion - to find the right balance between
- It’s important/vital - to make a rational decision about
- to manage income and spending - to have an adequate income

- to save/spend money - to raise living standards

Topics for presentations:
1. Study of economics in Russia
2. Managing the family budget
3. Living standard comparison: people with/without a college degree




Lesson 2 Economic theories

1. Answer the questions:

1. Do you know who Adam Smith is?

2. What economic theories do you know except Classical School?

Economics Word bank

1. employment — 3aHsITOCTH
2. unemployment — 6e3pabotuia

ACTIPCCCHUA, YIIAAOK, KPHU3HUC

CyMMa ACHCT B O6paI]I€HHH

3. depression — HKOHOMHYECKAs
4. money supply — neHexnas Mmacca,

5. recession — ’KOHOMHYECKHI cIiaj

~

flow of money — nenexHbIe TOTOKH,
JABW)KCHHE  JICHET 10  KaHajaMm

oOpareHust
securities — rieHHBIC OyMaru
economic boom - »skoHOMHUECKOE

IIpONBCTAaHUC, AKOHOMUYECCKUU 6YM

2. Read the text and check if you understand the words in bold:
Wealth of Nations: Main Principles

Adam Smith is famous for his theory that nations reach wealth and function best
where individuals are completely free to use their skills and capital (money, land,
etc.) in their own self-interest. Prices and wages will automatically reach optimal
levels (guided by an "invisible hand") when such freedom is allowed. When new
products are invented, prices will initially be high until others see the profit potential
and enter the field - then prices will go down. We see this today with electronics. The
role of government should be to protect contracts under the law, grant patents and
copyrights for invention, and provide public works such as roads that would benefit
everyone. Division of labour in production, a guiding principle of the industrial
revolution can bring many benefits.

Adapted from: http://www.heartoscotland.com/

3. Complete the puzzle using the words from the box above:

ACross

2. a period when the economy of a
country is doing badly

5. the fact that people who want jobs
cannot get them

7. a time when there is little economic
activity, which causes a lot of
unemployment and poverty

8. the amount of money in circulation
(2 words)

Down

1. the time when there is an increase in
economic activity

3. the fact of having a paid job
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4. all certificates that you buy in order 6. money moving freely between
to get regular interest from them or sell people or organizations
them later for a profit

4. Before reading the text check if you know the following verbs.
a. Match the verb and the meaning:

Verb Meaning
1. to falter a) 3asBJIATH
2. to suppose b) yxyamarscs
3. to be named after C) ObITh HA3BAHHBIM B Y€CTh K-J1.
4. to result in d) monararp, CUMTATH
5. toinspire ¢) MPUHUMATh, 3aMMCTBOBAThH
6. to pull smb out of smth f) 3amMHATHCS, CIIOTHIKATHCSI
7. to adopt g) 3aKaHYMBATHCS Y-JI.
8. to worsen h) BIOXHOBIISITH
9. to declare 1) BBITACKUBATh, BHITSTUBATH

b. Match the verbs with the similar meaning from the two boxes below.
Translate the verbs into Russian.

to make it through to rise to expand to turn into to suggest
to compel to happen to reject to hoard
to refuse to save to survive to force to occur
to go up to increase to transform to propose

5. Complete the sentences with the correct verb from the first box in ex. 3 b:

1. He was able to ... any difficult situation in his life ... the opportunity to get profit.
2. Some companies try to ... their employees to work extra hours.

3. In the crisis you need to have some savings to ... .

4. They could not ... his brilliant solutions of the problem.

5. The head of the company tried to ... the capital and to raise his workers’ salary.

Reading

6. Read the text and answer the following questions:

1. Why is John Maynard Keynes called "the father of modern economics™?

2. What are the situations which make people save money?

3. How can the government fight recession?

4. How does people’s behaviour differ in a recession and a depression?

5. What helped the United States and other countries to go out of the Great
Depression?

6. How much time did it take the U.S. to go from the Great Depression to the
economic boom?

7. How many recessions were there in the U.S. in the period from 1805 to 1995?
How many of them did not turn into depressions?

10



A brief review of Keynesian theory

Keynesianism is named after John Maynard
Keynes, a British economist who lived from 1883
to 1946. Even Keynes' critics call him the greatest
and most influential economist of the 20" century.
For this reason, he is known as "the father of
modern economics”. Keynesian theory is central
to understanding the Great Depression.

In a normal economy, Keynes said, there is a

high level of employment, and everyone is
spending their earnings as usual. This means there
Is a circular flow of money in the economy, as my
spending becomes part of your earnings, and your
spending becomes part of my earnings. For
various reasons, however, this circular flow can
falter. Suppose that you are experiencing tough
Your natural response is to start hoarding money to
make it through. There are many possible ways this process might start. It could be a
loss of consumer confidence in the economy, a natural disaster, a sudden loss of jobs,
etc. Whatever the reason, let's suppose you decide to save money to make it through
the hard times ahead. But if you're not spending, then I'm not earning, and in response
to my own hard times, I'll start hoarding money as well. This breakdown of the
circular flow results in a drop in economic activity, rising unemployment and a
recession.

To get the circular flow started again, Keynes suggested that the central bank
should expand the money supply. It may expand the money supply by buying
securities on the open market or using some other tool — which one is used depends
on the situation. This would put more money in people's hands, inspire consumer
confidence, and compel them to start spending again.

In extreme cases like depressions, when people hoard money and refuse to
spend no matter how much the government tries to expand the money supply, Keynes
suggested that the government should "prime the pump™ of the economy, by doing
what the people are unwilling to do: spend.

Although Keynes' advice on ending the Great Depression was rejected, almost
all economists believe that deficit spending on national defence, in preparation for
World War I, is what pulled the U.S. and other nations out of the Great Depression.

In seven short years, the U.S. went from the greatest depression it has ever
known to the greatest economic boom it has ever known. The success of Keynesian
economics was so resounding that almost all capitalist governments around the world
adopted its policies. And the result seems to be nothing less than the extinction of the
economic depression! Before World War 11, eight U.S. recessions worsened into
depressions (as happened in 1807, 1837, 1873, 1882, 1893, 1920, 1933, and 1937).
Since World War 11, under Keynesian policies, there have been nine recessions
(1945-46, 1949, 1954, 1956, 1960-61, 1970, 1973-75, 1980-83, 1990-92), and not

John Maynard Keynes (1883-1946)

11



one has turned into a depression. The success of Keynesian economics was such that
even Richard Nixon once declared, "We are all Keynesians now."

Adapted from www.huppi.com

Useful words and expressions

advice — coBeT

ahead — Briepenu

as well — taxoke

breakdown — pa3pymenue, cpbiB
circular — kpyroBoi

influential — BrusgTENLHBIM
confidence — yBepeHHOCTB

drop — nagenue

to experience tough times —
HCIIBITBIBATh TPYAHBIC BPCMCHA
10.extinction — BeIMUpaHHUE

11.an extreme case — kpaitHu# cirydaii
12.the Great Depression — Besukast

CoNoaRrLDE

16.national defense —
rocyJlapcTBeHHass 000poHa
17.natural disaster — cruxuiinoe
OencTBHUE
18.n0 matter — ne BaxkHO
19.0wWn — coOCTBEHHBIN
20.to prime — HakaYMBaTh
21.pump — momra, Hacoc
22.reason — nmpuyuHa
23.response — oTBET
24.resounding success —
OTJIYLUUTEJIbHBIN yCIIEX
25.sudden — BHe3anHbIH

Henpeccus (1929-1933rr)
13.level — ypoBeHb
14.10ss — moTeps
15.natural — ecrecTBEeHHBIN, TPUPOTHBIN

26.tool — uHCTpYMEHT
27.unwilling — Hexxenarorwiz
28.various — pa3JIn4HbIHI

Continue the beginnings of the sentences:

The circular flow of money means that ...

The natural response in hard times is ...

This breakdown of the circular flow results in ...
The central bank can expand the money supply by ...
In depressions the government should ...

abrwhE AN

8. Complete the summary of the text with the appropriate words:

Keynesianism is named after a ... (1) economist John Maynard Keynes.
Keynesian theory is central to understanding ... (2). In a normal economy, according
to Keynes, there is a high level of ... (3) and a circular ... (4) of money. In certain
situations consumer’s ... (5) in the economy decreases and worried consumers start
... (6). It decreases ... (7) and leads to ... (8). The central ... (9) should expand the
money supply to encourage spending and create jobs. During the ... (10) the
government should start spending itself to re-establish the circular flow of money.

Speaking
. Answer the questions giving full answers:
What do you know about John Maynard Keynes?
Is the Great Depression possible now and why?
What does the government do to prevent it?
What measures were taken in 2008-2009 to prevent a deeper crisis?

Hwh = o
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Grammar: Simple Tenses in Active Voice

Tense | Example

Present | People save money and refuse to spend no matter how much the
Simple | government tries to expand the money supply.

The government doesn’t save the money, people don’t spend.
Does the government save the money? Do people spend?

Past USA adopted Keynesian economics policies.
Simple | After World War |1, U.S. recessions didn’t worsen into depressions.

Did recessions worsen into depressions?

Future | In response to my own hard times, | will start saving money.
Simple | I will not (=won’t) spend money. Will | spend money?

10.What are the time expressions that help us to identify Simple Tenses?

11.Put the verb in the correct form:

1.

S

John Maynard Keynes (to live) in Britain.

2. He (to be) the father of modern economics.
3.
4. The government (to buy) securities on the open market and in such way (expand)

In hard times | (to start) hoarding money as well.

the money supply.

Keynes (to think) that the central bank should expand the money supply.
World War |1 (to pull) the U.S. and other nations out of the Great Depression.
The USA (to go) from the greatest depression to the greatest economic boom.

12.Write questions to the words in bold:

NoabkowdE

The businessmen invest money in the production.

Some companies create new working places.

People cause stagnation of the economy because they save too much.
The changes in our country are positive.

The factors of inflation are various.

John Maynard Keynes lived from 1883 to 1946.

The Great Depression was in the USA.

13.Answer the questions with the short true answers then expand your answers

P

giving reasons and examples:

Do you know anything else about John Maynard Keynes?

Did you live at the time of the Great Depression?

Does the government need to expand the money supply in times of a crisis?
Will such crises like the Great Depression happen in the future?

Topics for presentations:
1. John Maynard Keynes
2. The Great Depression
3. The economy of the USA in times of World War 11

13




Lessons 1-2 Revision

1.

1.
2.
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Put in the adjective from the first part of the sentence into the second part in
its correct form (comparative or superlative):

My car is big, but yours is ....

The economy of this country is strong, but the economy of that country is ... in
the world.

Money is important, but health is....

The employee earns much, but his/her boss earns ....

The production of the Chinese company is good, but the production of the German
company is the ....

I spend little money, but you spend ... than me.

Securities of an international company are dependable, but securities of an oil
company are the ....

| decided what to do quickly, and you made a decision as ... as | did.

This year we borrowed much money, but in the following year we will not borrow
as... as this year.

10.Your income now is high, but in a few years it will be ... .

2.

agbrwhE
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Make sentences with the given words, use the comparative or superlative
degree:

to earn, much, savings

new working places, division of labour, to create, many

great, influential, economist

little, to spend, to earn, I, you

active, consumer, stable, time

Put the following sentences in Past Simple and in Future Simple, add the
necessary time expression (e.g. two years ago):

Wealth of the individuals grows so the level of consumption of goods grows too.
In hard times individuals and industries start hoarding money.

The government buys securities on the open market and in such way expands the
money supply.

4. Some people don’t appreciate economic factors which influence their wellbeing.
5. Production of the factory improves.

6. Many people don’t understand what inflation means.

7.
8
9.
1

Businessmen buy and sell securities on the bond market.

. Your income and savings affect your pension.

Knowledge in economics helps you to manage your capital.

0.Your money loses value through inflation when you keep it under mattress.

Put the following sentences in the negative and in the interrogative:
After the industrial revolution wages and salaries became bigger.

After years of recession the country has an economic boom.
Consumption of goods is on a high level.

In the future | will earn a lot of money.
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5. More and more individuals will buy securities.

6. My neighbour lent me some money a week ago.

7. The state provides goods for countries with poverty problems.
8. This company is the biggest seller on the cell-phone market.
9. You spend much money on food.

10.Your savings lose value because of inflation.

5. Find 18 mistakes in verb forms and correct them:

Sara Smith, a Pasadena resident, go shopping yesterday. She were 30, and lived
at 3037 N. Foothill Street at present time. Sara were married to John. They will
having two children; Bob was five years old and Nancy is three. Sara own a blue
Toyota. At 9 a.m., Sara get into her car and driven to Barget, a department store a
mile away.

Barget have a holiday sale. Sara bot a four-slice toaster for $29.95 plus tax. The
regular price be $39.95. She pais by check. On her way home, Sara stoppeds at
MilkPlus to buying a gallon of milk. The milk were $3.50. Sara getting 50 cents back
in change.

Sara arrives home at 10 a.m. John and the kids were still sleeping. She wake
them up and then made a hot breakfast for everyone.

6. Look at the diagram and compare the macroeconomic indexes of two
countries. Answer the questions using the given words:
The main macroeconomics indexes of Russia and Great Britain

2009 | 2010 |2011
Growth of the Gross Domestic Product, %
Russia -7,8 4 4,3
Great Britain -4.4 1.8 0,9
Consumer price index (inflation)
Russia 8,8 8,8 6,1
Great Britain 3,1 3,2 5,2
Unemployment level, %
Russia 8,1 7,2 6,2
Great Britain 7,6 4,5 7,9

Data from: http://forexaw.com
1. How did the Gross Domestic product change? Inflation? Unemployment level?
2. What caused negative growth of the Gross Domestic product in 2009?
3. Why did the inflation increase in Great Britain and decrease in Russia?
4. How will these indexes change in the future?

- production/consumption

increase/decrease
living standards
unemployment/unemployed
wealth
the number/amount of

income/spending

earning potential

adequate

to affect

economic boom/recession
prices of goods and services
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Lesson 3 Economic systems

1. Answer the questions:

1. What types of economy do you know?

2. Who makes decisions in these types of economy?

Economics Word bank

1. farmland — oO6paGaTsiBaeMast 3eMist

2. international reserves —
30JI0TOBAITIOTHBIN (HOH]

3. market forces — pplHOYHBIE CHIIBI

4. devaluation — obecriennBanmue,

6. torise a loan — cnenare 3aem

7. national currency — narmoHaabHas
BAJIIOTA

8. a government official — unHOBHUK,
JOJDKHOCTHOE JIULIO

JI€BaJTLBAIIHS 9. private ownership — gactHas
5. economic upheaval — sxoHOMHYECKOE COOCTBEHHOCTh
HOTpPSICEHUE 10.to inherit — HaceoBaTh

2. Read the text and check if you understand the words in bold:
Types of economy

In a command economy or planned economy, the government controls the
economy. The state decides how to use and distribute resources. The government
regulates prices and wages.

In market economies, economic decisions are made by individuals. The
interaction of individuals and companies in the marketplace determines how
resources are allocated and goods are distributed.

A mixed economic system combines elements of the market and command
economy. Many economic decisions are made in the market by individuals. But the
government also plays a role in the allocation and distribution of resources.

Adapted from and http://www.enotes.com/

3. Complete the text below and decide where these words should go:

a. farmland e. government officials I. international reserves
b. devaluation f. inherited J. private ownership
c. economic upheaval g. market forces

d. estimate h. loan

Mixed economy

The mixed economy gives special importance to (1) because private businesses
produce most goods and services; also most of the nation's total economic output
goes to individuals for personal use. The (2) is also in private ownership and can be
(3). The influence of (4) over individuals is limited including their role in the
economic sphere. Some scientists (5) socialist economies as less efficient, because
private businesses rely on (6) and need less time to react to some (7) or shock. In
turn, government is responsible for public services such as administration of justice,
education and national defence. In case of serious (8) it can bring (9) and rise a (10)
to prevent the (11) of national currency.
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Reading.

4. Try to answer the following questions before reading the text. Then read the
text and check your answers:

1. How many economic crises has Russia had recently? What do you remember
about them?

2. In what way has the economy of Russia changed over the past 20 years?

3. What do you think will happen with the economy of Russia in the future?

Economy in Russia

The Russian Federation inherited a Marxist-Leninist command economy from
the USSR. Chief among the characteristics of the economy was an almost total
absence of private productive capital. All enterprises were owned by the state, with
each person receiving a salary for his or her efforts. Farmland was also almost
entirely state-owned: 95% of all farmland was either state-owned or collectivized. All
economic planning was done by government officials based in Moscow. Market
forces played no part in their decision-making. The workforce was estimated at about
70 million persons in 1989.

During the Gorbachev era many of the basic elements of the Soviet command
economy were weakened. The policies of “glasnost” and “perestroika” loosened
social controls. Limited private ownership of businesses and land was granted, and
prices were allowed to rise in accordance with market forces.

In 1991, Russia joined with other countries of the CIS. The rapid change from a
severely controlled system to the beginnings of a market economy created chaotic
conditions; some Russians profited greatly, but most citizens suffered from economic
hardship as privatization and other economic reforms progressed. In the late 1997,
inflation was brought under control and industrial production began to slowly
increase.

The country was once again plunged into economic upheaval, however, when
the rouble plummeted in May, 1998, following a crisis in Asian financial markets.
Unable to pay its foreign debts, Russia struggled to restructure loans and keep its new
financial services sector from collapsing. By 2001, however, the Russian economy
recovered and benefited from economic reforms and a rise in oil prices.

The Russian economy was hit by the 2008-09 global economic crises as oil
prices plummeted and the foreign credits dried up. The Central Bank of Russia spent
one-third of its $600 billion international reserves, the world’s third largest, in late
2008 to slow the devaluation of the rouble. High oil prices buoyed Russian growth in
2011 and helped Russia reduce the budget deficit inherited from the years of 2008-
09. Russia has reduced unemployment since 2009 and has made progress on reducing
inflation since 2010.

Modern Russia’s economy is characterized by a strong dependence on
fluctuations in world oil and gas prices, devaluation of the national currency, an
outflow of a highly skilled workforce and monetary funds.

Adapted from http://www.infoplease.com/, https://www.cia.gov/
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Commentary

1. USSR - the Union of Soviet Socialist Republics
2. CIS - the Commonwealth of Independent States
Useful words and expressions
1. absence — orcyTcTBHE 20.0il — HedTh, Maco
2. in accordance with — B coorBeTcTBuu ¢ y-n1  21.t0 OWn — Bi1aneTs, 00Ia1aTh
3. to allow — mo3BonATH 22.to plummet — 6picTpO MAKATH
4. among — cpeau 23.to plunge into — BoBIeKaTH,
5. to buoy — mognep:xuBaTh Ha MOBEPXHOCTH BTATHUBATh
6. chief — rimaBHbBIi, OCHOBHOM 24.productive capital —
7. condition — ycioBue IIPOU3BOIUTEIILHBIA KarKTall
8. to dry Up — UCTOIIUTECS, UCCAKHYTH 25.rapid — ObICTpBIi
9. to estimate - orileHuBaTH 26.10 recover — BocCcTaHaBINBATLCS
10.effort — ycunue 27.10 reduce — cokpariarb
11.either ... or — unm ... win 28.to restructure —
12.fluctuation — xonebaHue, HEYCTOMYUBOCTh PECTPYKTYpUPOBATh
13.foreign debt — BHemHMIA qOT 29.severely — xecTKO, CTPOro
14.to grant — pa3pemarb 30.to slow — 3ameIsITH
15.hardship — TpyaHOCTH, HETPUATHOCTH 31.to struggle — 6opoThcs
16.to hit — ynapsite, mopaxarthb 32.to weaken — ciabeTb, 0CIa0JIATh
17.10 join — mpuCOeTUHATHLCS 33.workforce — pabouas cuna

18.limited — orpannueHHBII
19.to loosen — ocnabmnsATh, OTIYCKATh

5.

o

NN E

oukhwnhEN

Give titles to each paragraph of the text.

Read the text again and say if the following sentences are True or False,
correct the false ones:

In the USSR all enterprises and almost all farmland were owned by the state.
During the “perestroika” private ownership was allowed but stayed limited.

After joining the CIS some industrial enterprises were privatized.

The change from a severely controlled system to a market economy caused chaos.
The rouble plummeted in 1998 because of low oil prices.

Russia hasn’t recovered yet from the crisis of 2008-009.

High oil prices supported the rouble during the past years.

Russian economy is independent of oil prices.

Tell with your own words about:
the command economy in the USSR
the time of “perestroika”

the 1990°

the collapse of economy in 1998

the crisis of 2008/09

the today's situation in Russia
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Grammar: Present Simple Passive, Past Simple Passive Revision

Present The economy is characterized by a strong dependence on
Simple fluctuations in world oil and gas prices.
Passive Most companies aren’t owned by the state.

Is unemployment reduced?

Past Simple | All economic planning was done by government officials.
Passive Some companies were not hit by the crisis.
How was workforce estimated?

8. Choose the correct variants of translation:
1. Economy is characterized as corrupt.
a. JKOHOMHKA XapaKTepU3yeTCsl KaKk KOpPyMIIMPOBAHHASL.
b.OKOHOMHUKY XapaKTepH3yIOT KaKk KOPPYMITHPOBAHHYIO.
C. DKOHOMUKaA XApaKTCPHU3YCT KOPPYIILHIO.
2. New marketing technologies were used in the company.
a.B xoMnanuu ObUIM UCIIOJIL30BAaHEI HOBBIE MAapKCTHUHI'OBBIC TCXHOJIOTUH.
b.B KOMITaHHUH HUCII0JIb30BAJIMCh HOBBIC MAPKCTUHI'OBBIC TCXHOJIOTHH.
C.B xoMmmanunm ncronb30BajId HOBBIE MAapKCTUHI'OBBIC TCXHOJIOTHUH.

9. Find Passive forms in the text and give some variants of possible translation.

10.Translate into Russian paying attention to the Passive:

Market forces played no part; workforce was estimated; elements of the
economy were weakened; the policy loosened social controls; private ownership was
granted; changes created chaotic conditions; most citizens suffered from economic
hardship; Russian economy was hit by the economic crisis; reduce the budget deficit;
outflow of a highly skilled workforce.

11.Choose the right variant:

1. The Russian Federation inherited/was inherited command economy.
2. Enterprises owned/were owned farmland and goods.

3. Government officials were estimated/estimated economic situation.
4. Government officials are based/based in Moscow.

5. Private ownership was granted/granted by the state.

12. Put the verb in the correct tense (Active or Passive):

Workforce (reduce) by the factory manager.

Reserves of oil (dry up) and the price went up.

Fluctuation in the market (cause) by hardship with foreign debt.
Devaluation of the national currency (hit) ordinary citizens.

The national economy rapidly (recover) from the crisis.

The new company (plunge) into the struggle for clients.

National debt (restructure) a few years ago.

The progress of the economic reforms (allow) to rise wages and pensions.

NGOk~ WNE
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13. Rewrite the following sentences into Passive:

1.
2.

CoN Ok

Ronald inherited a house from his father.

The government spent a part of international reserves to prevent economic
upheaval.

The economists estimate the national currency as very stable.

The government of this country granted private ownership.

The manager of the factory increase wages every two years.

They made a decision to sell their car.

The citizens consume the local production.

Manufacturers distribute their production all over the country.

The company provides services to people who want to travel abroad.

14. Choose the best variant:

1.
2.

Mike inherited the business. The business was inherited by Mike.
They sell the Apple computers in many countries. The Apple computers are sold
In many countries.

3. My father manages the factory. The factory is managed by my father.
4,
5. They produce the cars in Germany. The cars are produced in Germany.

Jane paid the bill for cable TV. The bill for cable TV was paid by Jane.

Speaking
15.Answer the questions, explain or proof your answer:

bW E

What do you or your parents remember about the times of perestroika?

Is it possible for the Russian economy to be independent of oil prices?

Is the Russian economy more a market economy rather than a command one?
What do you personally remember about the times of the crisis of 2008/09?
Is the future of the Russian economy optimistic?

16.Discuss the questions in groups, use the given words to help:

1.
2.

Give some examples of the countries with mixed and command types of economy.
What type of economy is better for Russia?

- decide/make decision - government official
- law - private ownership

- marketplace - to estimate

- price - to be successful

- wage - to rule/govern

- government - to be free/dependent
- market forces - stable/unstable

- economic upheaval - competition

Topics for presentations:
1. John Maynard Keynes
2. The Great Depression
3. The economy of the USA in times of World War Il
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Lesson 4 Taxation

=

Answer the questions:
What kinds of taxes do you know?

=

2. Do you know the names of the government departments or organizations
connected with taxes and taxation in your country?

Economics Word bank

1.charitable deductions - Beruer
B3HOCOB Ha OJaroTBOPUTENIbHBIC
el

2.a payroll tax - mamor ¢ 3apaboTHOMU
TUTATHI

3.to factor smth in - mpurumarhs B
pacyér

4.capital gains - moxobl OT MPHUPOCTa
KanuTaia

5.investment earnings (income) - moxox
OT KaUTAJIOBIIOKECHUHN

6.dividend - muBuaeHn (4acTh MPUOBLIH,
pacmpenenseMas  €KErOQHO  MEXIy
aKIMOHEpaMHu )

7.national debt - rocyaapcTBeHHBIH 10T

8.household - cemeiiHas enuHMIIA,
JIOMaIllHee XO035HCTBO

9.a tax code - HaJIOrOBBIi KOJICKC

2. Read the text and check that you understand the words in bold:
Taxation
Taxation is government levy on individuals, groups, or legal entities. Taxes
are a general obligation of taxpayers and are not paid in exchange for any specific
benefit. Taxes have three functions: to fund welfare and public services such as
education systems, health care systems, pensions for the elderly, to promote stable
economic growth, and to lessen inequalities in the distribution of income and wealth.
Taxes may be classified as direct or indirect. Direct taxes include income taxes,
taxes on property, and gift taxes. Indirect taxes include excise taxes, sales taxes, and
value-added taxes. Taxes may also be classified according to the effect they have on
the distribution of wealth. A proportional tax is one that imposes the same relative
burden on all taxpayers, unlike progressive taxes and regressive taxes.
Adapted from: http://encyclopedia2.thefreedictionary.com/tax

3. Read the definitions and choose the word from the Word bank:

The profits that you make when you buy something and then sell it again at a
higher price.

The profit you have from the amount of money you invested.

A house and people who live there taken as a unit.

It allows taxpayers who make large charitable gifts to pay fewer taxes.

The document that contains laws and rules about taxes.

A sum of money paid regularly by a company to its shareholders out of its profits.
The tax paid by the employee based on the wage or salary.

To take into account, to consider.

The total amount of money which a country's government has borrowed.

=

CoNORWDND
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4. Choose the correct variant in each sentence.

1. The employer can pay the ... for you or he can keep it back from your salary.
a.capital gain b.household c.payroll tax
2. The total ... are 20%, the company has made the great success in sales.
a. households b. dividends c. tax code
3. He sold his house in the country and paid an income tax on ... .
a. tax code b. capital gains c. household
4. He doesn’t work but has a big capital and lives on ....
a. national debt b. capital gains c. investment earnings

5. The ... of the USA is very complicated, it’s six times longer than “War and
Peace”

a. tax code b. national debt c. household
6. The huge ... of Greece can bring this country to bankruptcy.

a. payroll tax b. national debt c. capital gain
7. When you buy something you pay a part of a price as a ....

a. income tax b. value added tax c. taxrate
8. “Biogen” continued to ... research into new products.

a. tax b. fund c. impose
9. This research was carried out on money of ....

a. households b. taxpayers c. capital gains
10. In this case he should act not as an individual but as a ....

a. legal entity b. taxpayer c. household
Reading.

5. Try to answer the following questions before reading the text. Then read the
text and check your answers:

Do you agree that rich people should pay more taxes?

What percentage from general income do the rich pay? And the middle class?

3. Do wealthy people agree to pay more taxes?

N =

Buffett Rule to Tax the Rich

On Tuesday, April 10, the President is travelling to Florida to give a speech
about the Buffett Rule, a tax proposal that would require anyone who makes more
than $1 million annually to pay at least 30% of the income in federal taxes before
charitable deductions and payroll taxes are factored in.

The Buffett Rule is a term used to describe President Barack Obama's plan to tax
the rich, or Americans who earn more than $1 million a year. It was named after
billionaire investor Warren Buffett, who argued that wealthy Americans are
"coddled" and that middle-class wage earners often paid a higher percentage of their
income in taxes.

To tax the rich was considered by the Super Congress, the select group of 12
members of both the U.S. House of Representatives and U.S. Senate chosen to
identify ways to reduce the national debt by $1.5 trillion over 10 years. The Buffett
Rule would prevent millionaires from paying lower tax rates than middle-class
Americans earning less than $250,000.
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"Right now, Warren Buffett pays a lower tax rate than his secretary, an outrage
he has asked us to fix. We need a tax code where everyone gets a fair shake and
where everybody pays their fair share,” Obama told.

Buffett, the chairman and chief executive officer of Berkshire Hathaway and
one of the world's wealthiest men, urged Obama to tax the rich to reduce the nation's
growing national debt. The Buffett Rule plan to tax the rich would raise hundreds of
millions of dollars over a decade.

Buffett paid $6,938,744 in federal taxes in 2010, which was only about 17.4
percent of his taxable income of about $40 million. Buffett said his co-workers paid
33 percent to 41 percent of their income in federal taxes.

The Buffett Rule would primarily affect those whose income largely derives
from capital gains. Investment earnings are taxed at a lower rate than other types of
income, and the superrich are increasingly getting more of their money from capital
gains. The result: an average effective tax rate of 18% for the 400 or so U.S.
households that make $110 million—plus a year, according to the White House.

Many of the wealthiest Americans pay income taxes at a rate of 15 percent on
most of their earnings including capital gains and dividends. By comparison, middle-
class taxpayers pay between 15 and 25 percent of their income to the federal
government - and that's not including payroll taxes.

In other words, one of the world's wealthiest men shelled out a smaller
percentage of his income to the federal government than did many people who earned
less.

Adopted from http://usgovinfo.about.com, http://time.com
Commentary
1. the U.S. House of Representatives - Ilamara mpencraButesnei (HUXKHSS Tajiara
Konrpecca CIIIA)
2. CEO, chief executive officer - rmaBHbII HCITOJIHUTEIBHBIN IUPEKTOP

Useful words and expressions

1. annually — exeromHo 10. largely — B 3HauMTeENBHOMH
2. to argue — 311. yTBEpK1aTh, CTEIECHU
3. average — cpenHui 11. an outrage — rpy0oe HapyIIieHHe a
4. achairman — npeacenarens 12. to prevent — npeaoTBpaIIaTh
5. to coddle — 6anoBath 13.primarily — mpexnme  Bcero,
6. to derive — mpoucxoaUTh TJIaBHBIM 00pa3oM
7. a fair shake - s3mn. paBHbIC 14. a rate — cTaBka
BO3MOKHOCTH/OTHOIIIEHUS 15. a share — moust, B3HOC
8. to give a speech — BeIcTymaTh c 16. to shell out — BeImIATHTH
peUbIo 17.a tax proposal — HamoroBoe
9. increasingly — Bcé Oosbiie u TIPEITIOKCHHUE
Oonblnie, B OOBIICH CTETICHH 18. a term — repmuH

19. to urge — y6exaaTh, COBETOBATH
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Read the text again and say if the following sentences are True or False:
Obama says the rich must pay 30% of their income.

If the Buffet Rule works, the USA will pay its national debt.

The rich pay less money because investment earnings are taxed at a lower rate
than other types of income.

According to the Buffet rule the workers would have 18% tax rate.

Warren Buffett is the chairman of the U.S. House of Representatives.

The Buffet rule wouldn’t affect middle class.

Only those people who earn more than 1 million $ would pay more taxes.

WMo

No ok

Answer the questions:

What is the Buffet Rule?

What is Super Congress?

Do you know how many taxes employees and superrich people pay in Russia?
Would the Buffet Rule work in Russia?

How many taxes do U.S. workers and wealthy people pay?

What do you know about a luxury tax?

If you were rich, would you agree to pay more taxes?

If the Buffet Rule works, will rich people hide their income?

NG~ WNEN

Grammar: the Use of Infinitive

as a subject To tax the rich was considered by the Super Congress. (What?)

as an attribute The Buffett Rule is a term describing President Barack Obama's
plan to tax the rich. (What plan?)

as an adverbial of | Obama suggests taxing the rich to reduce the nation's_growing

purpose national debt. (What for? Why?)
after certain verbs | The Buffett Rule would raise hundreds of millions.
(without ‘to) The rich must pay more.

after certain verbs | An outrage he has asked us to fix.
(with ‘to”)

8. Choose the wrong translations of the words in bold:
1. To tax the rich was considered by the Super Congress.
a. OOJIOKUTH HAJOTOM OOTaThIX OBLIO PACCMOTPEHO
b. Hamoroo6s0xeHHe OOraThIx OBLIO PACCMOTPEHO
C. 4TOOBI OOJIOKUTH HAJIOTOM, HAJI0 PACCMOTPETH
2. The Buffett Rule is a term used to describe Obama's plan.
a. TCPMUH, HCHOHBSyeMBIﬁ IJIA OITUCAHUA
b. TepmuH, UCTIOJIL3yEMBIH, YTOOBI OITUCATH
C. TEPMHH, UCIIOJIb3yEMBIN OIKUCATEIBHO
3. Obama suggests taxing the rich to reduce the growing national debt.
a. 4TOOBI COKpPaTUTh PACTYIINN BHEIIHUM JTOJT
b. AJIs1 COKpalll€HUA PAaCTyICro BHCIIHETO JOJTra
C. K COKpAICHUIO PACTYIICIO BHEIIHETO JOJTIa
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0.

9. Put the particle “to” if it’s necessary:

1. The President comes to the city ... give a speech.

2. ... give a speech in front of many people is very difficult.
3. Everybody must ... pay taxes.

4. There aren’t many ways ... reduce the national debt.

5.
6
7
8
9
1

The new tax can ... help ... reduce the national debt.

. All efforts ... reduce the poverty are insufficient.
. Employees should ... pay a payroll tax.
. You must ... know the tax code very well ... factor all payments in.

Taxpayers who make large charitable gifts are allowed ... pay fewer taxes.
You must ... have a large capital ... be able ... live on investment earnings.

10.Combine the two sentences by changing the second one into the infinitive

phrase, as in the example:

Example: — The problem is interesting enough: it can attract much attention.

ONoakrwdE

— The problem is interesting enough to attract much attention.

He has done enough work: he can write a good report.

He saved enough money: he can buy new car.

The income tax is sufficiently low: every working person can pay it.

The price is high enough: it can bring good benefit.

The sum of money is sufficiently precise: it can satisfy our needs.

This man has enough experience: he can work as a general manager.

We have enough time: we can talk about something else.

Our specialist knows the tax code sufficiently well: he can manage our tax
payments.

Speaking
11.Discuss the question in groups; use the given words to help:
Should poor people or people with low income pay fewer taxes? Give some

arguments.
- it is fair/unfair - tohelp
- income/spending - unemployed
- low/high tax rate - provide services
- to factor something in - to satisfy needs
- social service - toreduce
- property - enough/not enough
- to fund

Topics for presentations:
1. Tax system in Russia
2. Ways to reduce tax fees
3. Income tax in different countries
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Lessons 3-4 Revision

o s = w

SouhrwnE A

1. Put the verb in brackets in the Present Simple Passive:
1. Securities (sell) on the open market.

2. Products (consume) by people.

3. The goods (distribute) by the company.

4. The decision (make) by the chief.

5.
6
7
8
9.
1

Prices (increase) because of inflation.

. Wages (pay) by the government.
. By whom (rise) the loans?
. Where (base) the government officials?

How (estimate) the planned economy?

0.(inherit) the private property?

2. Put the verb in brackets in the Past Simple Passive:
1. A value added tax (impose) by the government.

2. Social services (fund) on taxes.

3. The tax code (write) a long time ago.

4. Recession (control) by the government.

5.
6
7
8
9.
1

Planned economy (introduce) in the Soviet Union.

. Markets (control) by the government officials.
. When (impose) the taxes?
. National currency (support) very well.

Dividend (give) by the company.

0.Prices and wages (rise) by the head of the company.

Convert each sentence from Passive to Active voice:

The company’s tax is reduced by a bond received from the foreign government. —
The foreign government... .

Under the Code, a foreign tax is defined as any tax imposed by a foreign country.
— ... aforeign tax as any tax ... .

The land improvements were made by the foreign company Atkins, Ltd.

— The foreign company ... .

Corona, Ltd. is not owned by a foreign corporation. — A foreign corporation ... .
The breakthrough was achieved by Burlingame and Evans, two researchers in the
university's lab. — Burlingame and Evans, two researchers in the university's lab... .

Rewrite the following sentences in the Passive:

They consider this problem at the meeting.

They eventually made the decision, that the site will be used.
They transferred the money to my bank account.

They presented the new products after the speeches.

They don’t announce the findings if they aren’t completely sure.
They produced the new car in a factory, which is in China.
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She wants to work as a lawyer.

Not to pay your taxes is unlawful.
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Define the function of the infinitive in the following sentences:

The President stayed there to see how the new direction works.
| am going to pay my taxes before end of the month.
He has no opportunity to be present at the conference.

My intention is to buy a home, now | am searching the information about houses.
Remember to learn the tax rate before you buy property.

We must find a way to reduce our tax payments.

It is very important to factor all the rules and laws in before starting a business.

O To inherit the property is allowed in modern world.

Combine the following sentences using Infinitive:

1. The consulting company is seeking a lawyer. He/she should assist with the law

and credit issues.

2. The company expects from the specialists that he will have a broad understanding

of credit law.

3. The company also expects that he won’t be engaged in political activities.
4. The journal “Local Voices” is designed by high quality specialists. It supports

professional lawyers.

5. The journal is looking to you. Together we direct energy to international market

research.

6. The work consists in analyzing foreign markets and leading companies.

7. The Institute of Management and Computer Sciences is searching for a teacher.
He/she will head its faculty of management.

8. He/she should create a new work program, which support young specialists.

9. The institute has great prospects. It will get the status of a university.

7. Work in pairs, tell about the Russian economy and the Buffet Rule using the

chart below to help:

Russian economy

1. Soviet economy
- were owned by the state
- economic planning
- government officials

2. Beginnings of the market economy
- private ownership
- chaotic conditions
- inflation

3. Economic crises 1998/2001/2008-09
- oil prices decreased
- economy recovered
- international reserves
- reduce the budget deficit

Buffett Rule
1. Tax proposal
- 30% of the income
- charitable deductions
- higher percentage of income
2. Super Congress
- reduce the national debt
- lower tax rates
- pay fair share
3. Result
- capital gains
- investment earnings
- middle-class taxpayers
- smaller percentage of income
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Lesson 5 Credits

1. Answer the following questions:

1. What is a credit?

2. Have your relatives, family or friends ever used credit?

3. Do you know what credit interest rates are in your country?

Economics Word bank

1. mortgage — unoreka 8. subprime loan — «cybOcranmapTHBIMA

2. deposit the money to banks - KpenuT», KpeauT ¢ Oosiee BBICOKOI
MTOJIOKUTH JICHBI'H B OaHK IIPOLICHTHOM  CTaBKOM C  LEJIBIO

3. credit rating — OLICHKA KOMIICHCAITUH KPEJAUTHBIX PUCKOB
KPEIUTOCTIOCOOHOCTH 9. bond market — ppiHOK 1IEHHBIX OymMar

4. fixed rate —  ¢ukcuposannas | 10.foreclosure — numienue npaBa BeIKyIa
MPOIICHTHAS CTaBKa 3aJI0)KEHHOTO HMYIIIECTBA

5. adjustable  rate  mortgage @ — | 11.mortgage backed securities — nieHHbIe
UIOTCYHBIH KPEIUT C IUIABArOIICH Oymaru, oOecrieueHHbIC 3aKIIaIHBIMH
MPOLICHTHOW CTAaBKOI 12.rep0ossession — u3bATHE UMYIIECTBA 32

6. repayment — BbITIaTa, BO3MEIICHHE HeTLIaTexX

7. prime loan — cTaHgapTHBIN KPEIUT 13.go bankrupt — o6aHKpOTHTECS

2. Read the text and check if you understand the words in bold:

Credit can improve a family’s level of living and help you through a financial
emergency, such as illness or property loss, when you don’t have cash. You can buy
expensive things that you need now and stretch out the payment: pay for an item
through regular installment payments. Most people use credit cards to do things like
reserving a hotel room, buying airline tickets or making a purchase online. The
creditor may offer a grace period during which finance charges do not accrue on
your balance. But to take advantage of the interest-free use of the creditor’s money
you must pay your bill in full by the due date each month.

However, you should be careful when you decide to get a loan. You have to
decide if the item is worth the extra expense of interest paid, the rate of interest and
possible fees. You should find the best terms by comparing the annual percentage
rates (APRs) and be sure that you understand the contract before signing it. You
should pay attention to due dates to avoid added costs like over-the-limit fees.

Adapted from http://web.extension.illinois.edu/money/credit_ad.cfm

3. Match the definitions with the words in the Word bank:

A type of loan that is offered at a rate above prime to individuals who do not
qualify for prime rate loans

To save your money on a bank account

A special certificate which has a financial value

Money you borrow from a bank to buy home

A financial market where participants can buy and sell securities

=
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When you lose the right for your home
Paying the credit money back

Put the words from the box in the right sentence:

financial emergency, cash, installment, make a purchase, creditor, bill, due
date, get a loan, interest, sign a contract, costs

... gave her the money, but asked to pay back as soon as possible.

He didn’t have ... , so he paid for the umbrella with a credit card.

My last big ... was a new car.

The ... of credit payment is tomorrow and I have no money, can you give me
some?

The internet company sent him a ... and he paid it on the way home.

The total ... of house repair works were very high.

They bought a house using a mortgage; yesterday they paid their first ....

They consulted with a lawyer and finally decided to ....

We looked for a credit company very carefully and found a loan with the lowest
rate of ... .

10.Where did you find money for the new car? —1 ... .
11.You should use this money only in case of ... .

Reading

g whEO

Hwh = o

Read the text quickly and match the paragraphs with the following headings:
Uneasy question

Subprime lending model VS Traditional mortgage lending model

Who is to blame?

Subprime lending - what is it?

What went wrong in the Subprime lending model?

Read the text again and answer the questions:

Who are subprime borrowers?

What are the dangers of subprime mortgage repayment structure?

Where do subprime lenders take money to fund borrowers?

What happened in most cases when the repayment amount was changed after the
first two year period?

Who is guilty for the Subprime Mortgage Crisis?

Discuss the following questions in pairs:

Do you agree that the lenders (and the borrowers) should just accept the fact that
some people cannot afford to buy homes?

Would you borrow a mortgage loan if you knew you would have difficulty
repaying it?

What would you recommend to people who would like to buy home using
mortgage?
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US Subprime Mortgage Crisis — What went
wrong?

In 2007, the US economy entered a mortgage
crisis that caused panic and financial turmoil around
the world. So let's take a closer look at its history
and development.

A. Owning a home is part of the “American
Dream”. However, there are many borrowers who
don't qualify for prime loans because of low credit
rating or bad credit history. Subprime mortgage
loans are meant for this section of borrowers and
basically characterized by the following repayment
structure:

1. For the first two years mortgage repayments
remain fixed. After two years repayment amount
almost doubles.

2. Interest rate changes from fixed rate to adjustable rate mortgage (ARM)
which in turn depends on federal rate.

Subprime mortgages were very popular in America. By the year 2005, almost
1/5th of the total number of mortgages were subprime type. It became the means for
millions of people to own a dream house in US.

B. The traditional model of mortgage lending is the following: customers
deposit their money to banks — banks in turn use up this money for financing
mortgage lending. The main drawback of this model is that it restricts the finance
availability.

According to the model of subprime lending, the lender sells mortgage to the
bond market and thus gets the excess liquidity to fund the subprime borrowers —
home buyers repay the mortgage lender — they in turn repay the holders of mortgage
backed securities.

C. Mortgage lenders and banks fiercely competed with each other to grab more
and more market share of the subprime market. In this competition, they targeted the
poor working class. But these highly professional and trained sales people mostly
forgot or more often didn’t bother to explain the proper payment structure of these
subprime mortgages.

Consequence was inevitable. Default rate increased tremendously after the
repayment amount was reset after the first two year period, which led to foreclosure
and repossession. Many investment banks went bankrupt. This was coupled with
plunging property price.

D. Whenever a financial crisis emerges in the country, the blame game starts
immediately. Who is to blame for the mortgage crisis that has essentially wrecked the
US economy? Well, we are all to blame, in one way or another. The greedy lenders
are the easiest targets. The politicians who ignored warnings are second in line. And
let's not forget all of those consumers who didn't read the fine print.

E. The obvious advantage of the expansion of subprime mortgage credit is the
rise in credit opportunities and homeownership. But at some point, you have to ask
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yourself: "Should people who cannot afford a home be treated differently from a
lending standpoint? Or should the lenders (and the borrowers) just accept the fact that
some people cannot afford to buy homes?" There is no easy answer to this question.
Adapted from: http://www.homebuyinginstitute.com and
http://financialideas-problems-solutions.blogspot.com

Useful words and expressions

10.drawback — memocraTok
11.to emerge — BO3HUKATH
12.excess — uznuiiek, n30bITOK

1. to accept — mpuHUMATH 20.to increase — moBBIIATH

2. to afford — mo3BonHTH hHHAHCOBO 21.inevitable — Hen30eKHBIH

3. amount — o6bem 22 liquidity — THKBUAHOCTH

4. availability — moctynmHOCTB 23.means — cpeacTBO

5. to bother — 6ecioxoutbcs 24.0bvious — oueBUIHBIH

6. consequence — ciIeaCTBHE 25.to plunge — ctpeMuTeNBHO TIAIATH
7. to couple — coenuHATH(Cs) 26.proper — 311. MOJIHbIN

8. default — neyruiata 27.to qualify for — umeTs mpaBo Ha

9. to double — ynBauBaThCs 28.rate — CKOpoCTh, TEMII, pa3Mep

29.t0 reset — nepeycTaHaBIMBAThH
30.to restrict — orpaHrYUBaTH
31.standpoint — Touka 3peHus

13.expansion — 311. pacrpocTpaHeHHE 32.(to) target — 1ieinb, HaNIPaBJIATH

14 fiercely — sspoctHO

15.the fine print — menkwuii mpudT
16.to grab — xBaTaTh

17.greedy — »aaHbIH
18.immediately — cpa3y xe

19.in turn — B cBOIO OUEpEb

Grammar: Word order.

33.to treat — oOpamaThes ¢ K.-J1.

34.tremendously — B orpoMHBIX
pa3mepax, OrpOMHO

35.turmoil — 6ecriopsiok, cMsITEHUE

36.warning — npeaynpexaeHue

37.to wreck — paspymarb

The “SVOPT” rule

Subject (S) Verb (V) | Object (O) | Place (P) | Time (T)

Lots of people | lost their homes | in the USA | during the crisis

The place of an adverb in the sentence

< | Usually goes at the end Default rate increased tremendously.
£ | Can also go before the verb Mortgage lenders fiercely competed.
~. | Before the verb if it is one | Interest rates usually decrease.
E word
© | After am/is/are/ was/were Customers who are always late with the
é payments have bad credit history.
After the first auxiliary verb | Small flats can usually be sold quickly.

Adverb + Adjective

highly professional sales people

Adverb + Participle 11

These loans, basically characterized by a
simple repayment structure, are very popular.

31



http://www.homebuyinginstitute.com/
http://financialideas-problems-solutions.blogspot.com/

NoakowdE

©

Put the given adverbs in the appropriate place in the sentence:

People with high income can afford to buy a house. (certainly)

People with low income can’t pay the fees associated with mortgage. (usually)
You can purchase your dream house. (soon)

You should choose your lender. (carefully)

The fees were bigger than the borrower expected. (considerably)

Is this company going to sell the securities on the open market? (definitely)

The house was only built a year ago but the price has increased by 50%. (already)

Choose the right variant of translation:

B nocnennee Bpemsi MHOTHE JIOAM NPUOOPENN KBAPTUPBI B 3TOM pailoHE.
a.Many people have purchased the flats lately in this area.
b.Lately have purchased many people the flats in this area.
c.Many people have the flats in this area lately.

erIII/ITInI OYCHbBb IIOITIYJIAPHBI B HAIIIC BPCM: 110 BCCMY MUPY.
a.Credits are very popular all over the world these days.
b.All over the world credits are popular these days.

c. These days are credits popular all over the world.

B nponutom rogy B CHI' HamHOT0 O0JIbIlIe IO/ BIOKUIIU ICHBIY B OaHK.
a.Last year in the CIS much more customers deposited their money to banks.
b.Much more customers deposited their money to banks last year in the CIS.
¢.Much more customers deposited their money to banks in the CIS last year.

B nponutom rogy m3-3a kpuszuca MHorue 0anku B EBpore 00aHKpOTHIINCH.
a.Last year because of crisis many banks in Europe went bankrupt.
b.Last year many banks went bankrupt in Europe because of crisis.
c.Many banks went bankrupt because of crisis in Europe last year.

Speaking
10. Choose a question, divide into two groups, and take two opposite opinions.

=

Prepare arguments and examples to support your point of view. Debate these
questions as a whole class.

What is the best way to buy a flat or a house: to save money or to get a mortgage?
Should banks approve mortgage to people who can’t afford houses?

- foreclosure - installment payments
- repossession - terms

- go bankrupt - due date

- financial emergency - poor working class

- stretch out the payment - went bankrupt

Topics for presentations:
1. Mortgage: pros and cons
2. Tips for a mortgage borrower
3. Preferential mortgage loan
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Lesson 6 Advertising

1. Answer the questions:

1. Do you think that ads deceive us?
2. Do you rather believe ads or not?

Economics Word bank

1. to promote — MIPOJIBUTATh,
pacKpy4uBaTh

2. fee — mnarex, BeIIIaTa

3. commercial = commercial broadcast
— PEKIIAMHBIN POJIMK

4. to purchase — npuoOperaTh

8.

advertising — peKIIaMHast
JIeSTEIbHOCTh, PEKJIAMHBIN OU3HEC
advertisement — pexiama, 0ObsIBIICHUE
to grab attention — npuBneKaTH
BHUMAaHHE

benefit — Beirona; mons3a

2. Complete the sentences with the correct word from the box above:

1. An ... shows how good the thing is and tries make you buy it.

2. Ifa firm ... a product, it tries to increase the sales or popularity of that product.

3. The activity or profession of producing advertisements for commercial products or

services is ....

. When you ... something, you buy it.

~NOo O1 b~

w

a. Television Advertising
b. Radio Advertising
c. Print Advertising

. A ... 1s an advertisement that is broadcasted on television or radio.
. If you ... from something or if it ... you, it helps you or improves your life.

. A ... is a sum of money that you pay to be allowed to do something.

Identify the following advertising media and answer the questions:

d. Online Advertising
e. Billboard Advertising

-\\\“

e ———n,

1. Have you recently seen these examples of deceptive advertising?
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2. What brands use deceptive ads most often?
3. Does advertisement really lie to the consumers or just hide or misrepresent the
information?

Reading
4. Before reading the text, try to guess the meaning of the following deceptive
methods of advertising. Then read the text and check.

- Mice type - Trick words - Psychological
- Confusing colours - Lies methods

5. Read the text again and answer the questions:

1. What examples does the author give to the methods of deception?

2. What does “a penny sale” mean? Are there such marketing actions in Russia?

3. How do companies hide simple facts about their products?

4. What does the word “natural” mean and how do most people understand it?

5. What do nutritionists worry about?

6. Why do companies risk the integrity of their businesses?

7. Do you always read user’s manual and why?

8. When a seller gives an announcement about a 70% sale, how much is the real
discount?

9. Have you ever bought something and then realized that you did this only because

of advertisement?

Deceptive Ads

Excitement seems to fill the room, as words in a commercial advertisement
seem almost too good to be true. Advertisements exist to grab the attention of an
audience by promoting a product. In this day and age, advertisements use deceptive
methods like mice type, trick words, confusing colours, and lies to make a profit.

Mice type, the process of using a very small font size in advertisements, remains
one of the most common forms of deceptive advertisements seen. Examples of mice
type include a price sign on boxed envelopes at an office depot. You read: buy one,
$3.99; but two, $4.00. A penny sale? Uh-uh. The word “each” is written small below
both prices. Another common form of advertising deception usually goes hand in
hand with mice type.

Remember trying to read the product manual of an electronic device or even a
cell phone and getting frustrated because the reading seemed difficult and lengthy?
Many advertisements and necessary information about products get shadowed
beneath complicated sentences and a high number of pages used to confuse the reader
of a simple fact. Even Verizon has used this form of deceptive advertising, when its
rates and policies needed announcing. Letters sent out said: “Just take a moment to
review”, in which 2100 crammed words littered the letters. Imagine not only dealing
with a difficult letter to read, but colours obscuring the message!

The use of confusing colours helps advertisers deceive an audience, and it can
make words or images barely visible. These types of ads show up not only on
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television commercials and containers, but even on the Internet. Colours in the
background or the colour of words can make an image appear very different than
what the original message appears to be. Such deceptive advertisement makers enjoy
using colours like yellow behind other light colours, to make a message very difficult
to observe. As advertisements grow increasingly deceptive, using tricky wording has
also tainted the ad industry.

The words used in advertisements often associate with adjectives that make the
reader feel comfortable in purchasing the associated good. The word “natural” was
the leading claim made about a new product made last year, appearing on nearly one
in four new food and drink products. Lay’s potato chips, Tropicana orange juice,
Welch’s grape juice and Pizza Hut pizza are among the launches this year by major
marketers making natural claims. Key nutritionists’ concerns are fears that the term
will override nutritional information and portion control. “When someone hears
“that’s natural”, they think, “I can eat as much as I want”,” said Keri Gans, a
registered dietician and spokeswoman for the American Dietetic Association” (York).
The wording in advertisements can literally make or break the sale of a product, and
using deceptive ads, companies try to make a bigger profit.

Why do companies jeopardize the integrity of their businesses and risk the
chance of getting charged with a deceptive advertisement fee? Experts agree that the
reasons vary greatly; however, the biggest reason concludes, obviously, making
money. “A charitable explanation is that creative people get caught up in the
challenge of execution rather than the big picture. A less charitable explanation is that
some marketing execs and their agencies are interested only in lining their pockets.
The truth, of course, lies somewhere in between”.

Adapted from: http://roastedpinebark.hubpages.com

Commentary

Verizon Communications — US telecommunication company, one of the biggest in
the USA and in the world

Office Depot — is a supplier of office products

Useful words and expressions

1. background — 3amuuii maH, Gpox 12.to deal with — umets neno
2. barely — ene-ene, ¢ Tpymom 13.excitement — Bo30y»1eHHE, BOJTHEHHUE
3. to be caught up in smth. — OwmiTe  14.exec (executive) — pyKOBOIUTEIIb,
MOTJIONIEHHBIM, YBICYEHHBIM YEM-II. aIMHHUACTPATOP
4. challenge — cioxxnas 3agaua 15.execution — BeImonHEeHHE (padoT,
5. to charge — 0OBHHATH 00513aHHOCTEH)
6. charitable — no6poskenaTenbHbIH 16.fear — cTpax
7. claim — 3asBneHMe, YTBEPKIACHUE 17.font size — pasmep mpudra
8. concern — 6ecroKoicTBO 18.frustrated (at / with smth) -
9. to conclude — (c)menars BbIBOA paccTpOCHHBIH, HETOBOJbHBIN
10.to confuse — 3amyteiBaTh, cOMBaTh ¢ 19.integrity — 3. 4eCTHOCTH
TOJIKY 20.to jeopardize — puckoBaTh

11.to cram — nepenonHsTh, BTUCKUBATH
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21.launch — BBITyCK HOBBIX TOBapoOB Ha

PBIHOK

22.lengthy — o4ueHb JUIMHHBIH

23.to line pockets — mHaxwuThCA,
pazboraTeThb

24.t0 litter — ObITh B  OOJBIIOM
KOJINYECTBE

25.t0 obscure — nemaThb HESICHBIM,
HCTIOHATHBIM

26.t0 observe — 3ameuath, OOpaIaTh
BHUMaHHE

27.to override — nepeBenIMBaThH

28.rate — kypc

29.t0 seem — ka3atbcs

30.to shadow — 3aTeHsTb, 3aCHOHATE

31.to show up — nosBiIATHCS

32.spokeswoman — mpeicTaBUTEIbHAIIA

33.to taint — mopTuThH

34.wording — ¢popmynupoBka

6. Look at the examples of deceptive advertisements below and find all the

deceptive tricks.

- Mice type - Trick words - Psychological
- Confusing colours - Lies methods
Requramens o e BUY one - GET | | Buy TWO

It is the responsibility of the supplier to
provide material certifications that
demonstrate compliance with all
performance specifications outlined on

2nd for FREE!*

* Only if you spend 1 000 $ in our shop

get the THIRD
for FREE!!!

the piece part drawing/datasheet. All

testing must be accomplished through
a certified and accredited laboratory to Only NOW new
the ISO-IEC 17025 standard. NOKIA

without GMO!

7. Tell about the real advertisements where you saw deceptive tricks. Use the
information from the Internet if it’s necessary:

Grammar: Past Participle and —ing forms

Form Example

Past The words used in advertisements often associate with adjectives

Participle that make the reader feel comfortable. Mice type remains one of the
most common forms of deceptive advertisements seen.

Participle | Imagine dealing with colours obscuring the message!

Present All companies are searching for a way to make their business

Continuous successful.

Gerund Advertisements exist to grab the attention of an audience by
promoting a product.

Verbal noun | The wording can literally make or break the sale of a product.

8. Choose the wrong translation of the words in bold:

1. ... a high number of pages used to confuse the reader of a simple fact.
d. KOJIMYECTBO CTpaHMIl, UCIIOJIb3YIOIIUXCS IJIA. . .
b. KOJIMYCCTBO CTpaHUl, UCIIOJIb30OBAHHBIX JIJIA. ..
C. KOJIIMYECTBO CTpaHuIl, HCIIOJIb3YIOIIHUX. ..
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2. Ads exist to grab the attention of an audience by promoting a product.
a. TPHUBJIEKATh BHUMAHUE MMPOJABHKCHUEM ITPOITYKTA
b. mpuBIeKaTh BHUMaHHUE MIPOJABUTAEMBIM IPOIYKTOM
C. TPHUBJIEKATh BHUMAHUE, IPOIBUTAS TIPOTYKT
3. Lay’s potato chips are among the launches by major marketers making natural
claims.
a. TPOJAaBIIAMHU, JCTAIOIIUMH 3asBJICHUS O HATYPaIbHOCTH
b. mponmaBuamu, aenas 3asBICHUAS O HATYPaIbHOCTH
C. JeNaroIIMMU 3asABJCHUS O HATYPaJbHOCTH MPOIaBIIaMH

9. Find all Participles and —ing forms in the text and translate them.

10.Translate the following word combinations:

promoting company, promoted product, advertiser using, used words, advertisements
seen, purchasing buyer, purchased good, product made, factory making, people
catching, people caught

11.Choose the right variant:

Advertisers grab attention by using/used deceptive methods.
Used/using deceptive methods help a company to sell the product.
Purchasing/purchased the goods consumers often don’t think.
Purchasing/purchased goods were promoted very professionally.
Printed/printing ads often use deceptive colours and mice type.
Companies often distribute printed/printing ads by post.

Some people find reading/read user’s manual very difficult.
Launching/launched of the new products begins next year.

ONoakrwdE

Speaking

12.Discuss the types of advertising and answer the questions. Use the given
phrases to help:

1. Can you remember any advertisement, where not all information about the
product was correct?

2. What methods do companies use to promote the product?

3. What information about the product can be misrepresented to make consumers
purchase it?

4. What is the most deceptive type of advertising?

- In my view... - Apparently...
- In my opinion... - The way I see it...
- From my point of view... - Personally I think...

Topics for presentations:
1. Examples of deceptive advertising
2. History of one of the famous brands
3. Co-packing
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Lessons 5-6 Revision

agrONERE

N

4.

(o]

3.

Make sentences from the given words paying attention to the word order:
bad credit history, to refuse, the bank, to give a credit, because of, last year
considerably, credit rates, to increase, in the future

to make a purchase, to go to, he, London, on Monday

the first installment, for house, the borrower, to the city center, to pay, yesterday
chief, to go to head office, to sign a contract, last week

Choose the correct variant:
... when the credit rates started to decrease.
a. He immediately decided to get a loan...
b. Immediately he decided to get a loan...
c. He decided to get a loan immediately...
... but they take all your property.
a. Not only the banks take their money back...
b. The banks do not only take their money back...
c. The banks not take their money only back...
He signed this contract with the company...
a. ...attwo o'clock on April 12th in the morning in 1989.
b. ...in the morning at two o'clock on April 12th in 1989.
C. ...attwo o'clock in the morning on April 12th in 1989.
...all the terms of agreement before signing it.
a. The client carefully read...
b. The client read carefully...
c. Carefully the client read...
...were not ready.
a. The ordered magazines...
b. The magazines ordered...
c. The magazines which ordered...
Last year the secretary went on business trip...
a. to London by train at Easter.
b. at Easter to London by train.
c. by train to London at Easter.

Combine two parts of the sentence using —ing forms as in the model:

Model: People should be very careful when they get a loan.

1.
2.
3.

oa s

— People should be very careful when getting a loan.
The chief used all possible advertising media when he promoted his company.
You benefit significantly if you place your ads on the radio.
The advertising companies grab the attention of the customers when they place
ads on the billboards.
The clients lose some percentage of capital when they get it in cash.
You can spoil your credit history if you don’t pay the installments on time.
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4. Put the verbs in brackets in the form of Participle Il or Participle I:
1. We can see (deceive) ads everywhere.

2. (deceive) people often never buy these goods again.

3. A purchase (make) by the company was delivered later.

4. (make) a purchase people don’t often think and buy unnecessary things.
5.
6
7
8
9.
1

The contract (sign) yesterday was very profitable.

. The CEO (sign) the contract was very confident.
. The client forgot to take the bill (pay) yesterday.
. The client (pay) the bill forgot to sign it.

The bank (fund) projects gets money from deposits.

0.The (fund) company developed a new technology of the device manufacturing.

Combine two parts of the sentence using Participle I or 11:

A client who doesn’t pay installments regularly will have bad credit history.
Money which you deposited in BMC bank lost their value through inflation.

My partner who works in advertising has very good experience.

My uncle who got rich because of machinations on the bond market died and left
me inheritance.

The installments that are not paid on time create bad credit history for you.

People who don’t pay attention to the due dates get over-the limit fees.

The advertisements that grab people’s attention are often deceptive.

The goods which are well promoted are successfully sold.

Tell about the traditional model of mortgage lending and the model of
subprime lending using the following charts to help:

lender repays q
the holders of lender sells @

securities mortgage banks customers

fund deposit
ﬂ lending money

- lender
borrower -

) funds
repays

| subprime
mortgage borrowers

Work in pairs, choose one of the following items and prepare an
advertisement for it, you can use deceptive methods:

your English textbook 6. yoghurt with GMO carrot
students cafeteria 7. acredit with 30% interest rate
Chinese courses 8. anisland in the White Sea

your faculty 9. Nokia 3300

your pen 10.a new film with Robert Pattinson
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